Converting Fahrenheit and Celsius (G)

43 °F = °C -58°C = °F 3°F =
6°C = °F 98 °C = °F 45°C =
52°F = °C 88 °C = °F 71 °C =
-33°C = °F -74°C = °F 2°C =
-116 °F = °C 87°C = °F 158 °F =
-129 °F = °C 9°F = °C -68 °C =
-11°C = °F 94 °C = °F 2°C =
82°F = °C 102 °F = °C -18°C =
47°F = °C 59°C = °F -138 °F =
-10°F = °C -141 °F = °C -13°F =
141 °F = °C 38°C = °F -38°C =
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Converting Fahrenheit and Celsius (G) Answers

-43°F = -41.66 °C 58°C = -724°F 3°F = -l16.11°C
6°C = 42.8 °F -98°C = -1444°F 45°C = 113 °F
52°F = 11.11°C 88°C = 1904 °F 71°C = 1598 °F
-33°C = -274°F -74°C = -101.2°F 2°C = 28.4 °F
-116 °F = -82.22°C 87°C = 188.6 °F 158 °F = 70 °C
-129°F = -89.44 °C 9°F = -22777°C -68°C = -904°F
-11°C = 12.2 °F -94°C = -137.2°F 2°C = 28.4 °F
82°F = 27.777°C 102°F = 38.88 °C -18°C = -0.39°F
47°F = 8.33 °C 59°C = 138.2°F -138°F = -94.44 °C
-10°F = -23.33°C -141 °F = -96.11 °C -13°F = -25 °C
141°F = 60.55°C 38°C = 1004 °F -38°C = -364°F
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